7.4

7.4 Percents (& Interest

Percent literally means "out of 100."

Ex 1. Convert these to percents.

@035 =35  -2¢2
loo

(b) 0.0465 = ¢ C

=463 2
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) 152 =15209,

(@) 2% =260
=2.(*

Ex 2. Convert to decimals.

(@) 61% =0\

(b)7.34% =0.0934

(c) 2%4 = 2.4 =0.02¢

d) — - 2 =0nR 7. =00
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Three approaches to Percent problems:
Grid Approach Proportion Equation Approach
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Word Problem Examples

Ex. 3 Old Navy is having a sale on their jeans. They are advertising 30%
off. | also have a coupon for an additional 20% off. What is the overall

percent discount I'll receive off my jeans? m/

X= price of jeans 0% (D,‘.}QTDSW
0.2 (0.3)x = 006y Pay 567

02« 03-0.06 = O-(W“'qcl?b @A\Scwﬁ" 94 g

Ex. 4 Jim bought two shirts that were originally marked at $40 each. One
shirt was discounted 20% and t he other was discounted 25%. The sales
tax was 4.5%. How much did he spend in all?

[D.?(q D\ <+ O.‘M(Vo)]}.l)‘-l%

Ex 5 Brady received an 8% raise last year. If his salary is now $72,000,
what was his salary last year?

392000 ¢ _Job 7o of _ X%
N (o s alom)
LV TRY Sq‘q_uas y\a

12000= [08x = X=5Gb,L6b.LL

Ex. 6 The bookstore manager told me that they take the purchase price of
their text books (from the publisher) and divide it by three-fourths in order
to determine the price for the students purchasing the book from them.
What percent mark-up is this for the student?

X ~2 x4 -x(03
O3 =% i XB (>

= . Mméayleup 1%
X Price ‘gbw\ fm\'o\as\«u,- ;3_3 .70
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Ex. 7 1If 70% of the 7th graders in a school wanted to have a school fair
and 40% of the 8th graders in that same school wanted to have a school
fair, is it possible that only 50% of the students wanted the school fair?
Explain. (Note: Assume this school only has 7th and 8th graders.)

x= 4 q‘L‘" a’fdm

(3_""“' Rt~ 8"40(94.&' 723(7%

O.:FX*FOH\Jf O.E(x%\‘/ N e W
0qx+ok(\a DSX-’-OEB’ ’\W'\ut as vvmmz,
D.2x = p| * Habus s
0. /o:q— TE  Gradus

Ex. 8 Andrew paid $330 for a new mountain bike to sell in his shop. He
wants to price it so that he can offer a 10% discount and still make 20% of
the price he paid for it as profit. At what price should the bike be marked?

A= Pric kil 1S mayleed
Custemaer Pays ; 0.9x

D‘Tx 3300 2) >
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